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m ROOTedTTreess

TTree *tree = new TTree(“tree”,”mytree”);
tree->Branch(“brl”,&brl,”br1/F”);

B ERtree, HtreeBNrootX#
tree—>Fil1(); //3&*
TFile *f = new TFile (“fl.root”, "recreate”) :
tree—>Write() : //BXNroot3XH

B BFTro00tXHAPitreehE R
TFile *f = new TFile(“fl.root”):
figglls il
TTree *tree = (TTree*) f—>Get (“tree”) :
tree—>Scan (), tree—>Show (i), tree—>Print ()

B RIBtreetFERXAAABSAHXHrootXH: TChain
TChain *chain = new TChain() :
chain—>Add (“f1. root/treename”) ;



AR R

B B 5 Eeiz A

JosskER . Add, Divide, ...

yYa—1k : Scale
m ROOTH EAF ERE
Al O f
B 532 a9R00T P A
m ROOT4dvs5



B EE—1K(])
http://root.cern.ch/root/htmI522/TH1.htmI|#TH1:Scale

HI7E#)H—4k
void TH1::Scale(Double_t cl1, Option_t *option)

ikcl=1, HEJ7EEEA X AH){E (BinContent)Ifellcl
% sum=h1l->Integral()
h1l->Scale(cl)Z )5,

hl->Integral() = cl*sum

RNInsH, hl->Scale() %A 2L (ERc1=1)

"IH—4" 5, AMYBIinContentZ4t 1, BinErrorti 234y T


http://root.cern.ch/root/html522/TH1.html
http://root.cern.ch/root/html522/TH1.html#TH1:Scale
http://root.cern.ch/root/html522/ListOfTypes.html#Double_t
http://root.cern.ch/root/html522/ListOfTypes.html#Option_t

root|
root|
root|
root[

root
root
root
root
root

B EeE—1k(2)

H—A T mdr A, kit

X 3l o

FTEL, k24 E5 B A — 2R - A R #EAT B B

7 = Draw () BR i )1 T

0]TH1F *hl=new TH1F("h1","",100,-5,5);

1]TH1F *h2=new TH1F("h2","",100,-5,5);
2]h1->FillIRandom("gaus’ 5000); Erires oo
3]h2->FillRandom("'gaus",10000); *- .
4]float norm=1000; “F HWM
5]h1->Scale(norm/h1->Integral()); *- HH. HHH
6]n2->Scale(norm/h2->Integral()); *- HH M
71h1->Draw("e"); P %

8 h2->DraM‘esames”) ; o 4%“**%%*

"Ik )5, hlEih2->Integral()=norm
P2 R — 5Kk B ] BLE H Eeas 24 o0 AT IR 22 1




B EmEEE(])

Lt

XY
1. XTEITEBAT YN E#E, —EE2 B HiaH R E X
LE A~ B 7 B BAH 0 S A BE L AR = 1 AR A4 X ]
2. WANE T BB PYWas &, DCTa] R/ NATIX TR ESOr [R] 4 s X
IpIB e Ry 1V 8 e S | P gV
éﬁﬁ%(BinContent)El’ﬁHiJﬂ A AHIRE. AHBR
3. MAFEIEMLHSGTHRE, TFEAAXTROOTHA
P FHTHLH A TR B o1 R, B
TH1::SetDefaultSumw?2();

void SetDefaultSumw?2(Bool _t sumw2 = KTRUE)
//static function. When this static function is called with
sumw2=kTRUE, all new histograms will automatically
activate the storage of the sum of squares of errors,

le TH1::Sumw?2 is automatically called.



http://root.cern.ch/root/html522/src/TH1.cxx.html#j2fCI
http://root.cern.ch/root/html522/ListOfTypes.html#Bool_t
http://root.cern.ch/root/html522/ListOfTypes.html#Bool_t
http://root.cern.ch/root/html522/ListOfTypes.html#Bool_t
http://root.cern.ch/root/html522/TH1.html
http://root.cern.ch/root/html522/TH1.html#TH1:Sumw2

B ESm@NZF(2)

M. A THRERSESM, BNt E.
root[1]TH1::SetDefaultSumw?2();

root[1JTH1F *h3=new TH1F(*h1);

root 2]h3->Add(h1,h2,a,b);

zE B . h3[¥BinContentfiza*h1+b*h2% %, —fxa=b=1

MU H T N SEGS W 2 1) 0 A P I ER AR

root

1]
2]
3

TH1F *h3=new TH1F(*hl);
h3->Sumw?2()://t2 r] £E € X h3HITH1::SetDefaultSumw?2();

h3->Add(h1,h2,a,-b);

B, h3[¥BinContent#za*h1+b*h2%& 4, —fka=-b=1

"% o =.ol+0? =In +n, (IREhIFIh2AlT) |




B Eem Nz (3)

R | BT RERNHH. I
root[1] TH1F *h3=new TH1F(*h1 _n [1 1 (hLfih 2l 7)
root[2]h3->Sumw?2(); ERRLENL:
root[3]n3->Divide(h1,h2,a,b);
4

root[4]h3->Divide(h1,h2,a,b)*
B BRh1Ifh2 A0S, E470?7 Bbinhl8 5 Th2

O =

root[4]h3->Divide(h1,h2,a,b,"B"); \/nla:l)

n,

I AR E

e | % T XA EHEATHEWRESRBIE.

root>TH1F *h3=new TH1F(*h1);
root>h3->Sumw2();
root>h3->Multiply(h1,h2,a,h); <G =ML,

n, N,



B E@™NEZH/ e iR =30

¢ HARROOTHIRM THREERN —HEHHE
BE IR, EXBRALERIRE —EBETHm
., IRZEHT, AP EENEFEH &I
FESREE, FHIANEHE TR,

BIEH— N EERERTE A 5
MRFEFHETTERRE, ATFERM
TH1::SetDefaultSumw?2();

B, XEASEJTE (nhist) i A
hist->Sumw?2();




B Hew Fit Panel

& EH 7 E ()

BERiaRBIEFE L, A%, BINEFEE

'fqziilﬁ, J‘zﬂﬁ,%FltPan el ’ ﬂuEFltPanel EFIJ‘Z,.E efinedh Operation

BRA NS, LA ARis, | (D) T

LI ), S, —
normtraindines T fmarkdir favamnlas T ank gaus (&tparamet&'m

Current selection: htemp:TH1F

General I I'I.I'Iinimizationl

— Function

] c1 EBX
File Edit View Options Inspect Classes Help —Fit Settings
pxX htemp - Method
I—I Entries 23457 |Chi-square ll User-Defined.. |
= Mean 0.004576 T .
- Linear fit
900 — I RMS 1.002
E TH1F::htem Rcbust:l 1.00 :I [ No Chi-square
htemp q
800 = Add Fit Options
700 f_ Divide ™ Integral [T Use range
= DrawPanel [ Besterrors r Improve fit results
ot Fit / ™ Allweights = 1 ™ Add fo list
500 f_ ™ Empty bins, weights=1
= Multiply Draw Options
400 Rehin
- SetMaximum I SAME
300 — Eathinlmilim ™ No drawing
200 C ShowBackground ™ Do not store/draw Advaneed..
:_ ShowPeaks
100 :_ Smooth
5 Sethame
u_|||||J. PRSI N O SetTil 1-I|_"r"-l'|-4-|_J-J.IJ.III
-4 -3 -2 -1 e 3 4 Eit \D Beset | Close
Delete pPx
LIB Minuit | MIGRAD | Itr: 5000 |Pm:DEF |

LLEALNINng 1 snomes yany 2w/ wor <EEETIEERE




W& HITE(2)

HEARI =LA, FHEOptionsH ik
Fit ParametersitTi, FJLEINREHZER.

MELEREL T =
W I3 S AL
AR, WE. ¥

File Edit View JeILER Inspect Classes Help 75‘% , u &M% B{J
| px | v Auto Besize Canvas htﬂ'm 5
Besize Canvas p ﬁﬂ:Ch |2/ndf

- Entries 23457

- Meove Opague
900 Resize Opaque Mean 0.004576
B0O f— Inte rrupt RMS 1.002

- Ead Auto Exec Constant 879.2+ 7.1 : -
600~ v Statistics M 0.00653 + 0.00653 Q\ZZ— ?E?t X F 'j:[:

C v Histogram Title ean ' =0 P ? :[X l
500 — v Sigma 0.9963 + 0.0047 ’A’j‘i‘ _t |

= Can Edit Histograms = I -

400 —

- » N
300 DAEEHEX
0 B e ey

- =
100 —

= Z— N A

u M| |-‘|1 ||||| ldlI [ 2) \ﬁ ':' mﬁﬁ

px
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ARSI

cd <your workding directory>
cp -r —yangzw/examples/Lec5 .

E MR H O

Scp -r
username@166.111.32.64:/home/yangzw/
examples/Lec5 .

wget
hep.tsinghua.edu.cn/—yangzw/CourseData
Ana/examples/Lec5.tgz

tar -zxvf Lec5.tgz

12
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M5 EH T E(3)

/home/yangzw/examples/Lec5/ex51.C

hpx

hpx->Fit("gaus"); 1000~ o

hpx->Fit("gaus”,"","" ,-3,3);

A 52 A R e

TF1 *fcn = new TF1("fcn","gaus",-3,3); -t

hpx->Fit(fcn,”R”); e B R I
r— e

gStyle->SetOptFit();// v & 5 1% i el M“M

LA RITAEE T 340 th A R B 5O0IME ol
fcn->SetParameters(500,mean,sigma); -
WA o B S5 2 IS5

Double t mypar[3];
fcn->GetParameters(&mypar[0]);

iz4T: root -I
0] .L ex51.C S :
Kk p regss 2 S AL £

root [2] ex51r2() ¥




M5 EH T E(3)

/home/yangzw/examples/Lec5/ex52.C

) ) R \ | Lorentzian Peak on Quadratic Bkgd | | x?/ndf 58.93/54

JL3RIE (Breit-Wigner2378) 0 _E — R B 3 h PO sen:veols
j:}% %M’%(—‘%G/l\%%ﬁ) a0 E_ ........................ ........................... .......................... pz .
] | — R | S p3 13.81+2.18

v c : 4 0.1723 + 0.0358
ﬁ%?ﬁ{ﬁﬂ? EK] ﬁ%ﬁ& : 70 ;_ ........................ .......................... ;:;5 ;0'9873 +0.0113

50 :_ ........................ ......................... L T ........................... .............................

S HEXAER %f((b ackgroun d)ﬂ:ﬂ;l\:jﬁ 40 E_ ........................ ..... + el .......... I+ T L
IEE PR ﬁ(l orentianPeak), B2 X IXPH R N LA i ai he e )L S
B R B2 o ¥ fitFunction e AT\ + b I RN

$ROOTSYS/t . to r I al S/fl t/FI ttl n g Dem 0. C 60 ;_ ........................ ...................... + ............................. .............................

YA el I X
FFfitFunction & X TF1ER %L 10 7 e |
09 0.5 1 15 2 25 3

TF1 *fitFcn = new TF1('fitFcn", fitFunction,0,3,6);
X H IR REX A 90-3, 672

fitFcn->SetParameter(4, 0.2); X N2 #0k4]{E (width)
fitFcn->SetParLimits(5, 0.6,1.4); NHSH% & BUE L F

1247: root -l ‘
root [0] .L ex52.C IE = TLegend i H
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ROOT/N4E:

B EROOTH AL
ROOTSYS, PATH, LD LIBRARY_ PATH
SR E T, BUSIEL BeER
TH1F TH2F, TF1, ...
SEALEU A1, SRR A
gRandom->Rndm,Uniform,Gaus,EXxp,...
B, PRAFroot X4
TFile *f = new TFile("myfile.root”,”recreate");
f-=Write();
TTree, TChainfr{ii
TTree *mytree = new TTree("'mytree”,”my tree");
mytree->Branch(........ );

HITChain g #rH [F] g X 2ok S
HrERies, Us

h1l-=Fit("function_name");
15



ROOT 1) H B Dy e el H72:(1)

m ROOTFMA3. 1475457 i) o B e F 2
2, R—MMB 222268, tbiiLorentzZk
%El/ﬁ%%ﬁ? FFIRRRAL, FPEskfdia &, Ktk

-ROO ?ﬂﬂf%a ZHGraphs, @&H T A%
PR 1 & B %ﬁ(i’ﬁkﬂjTUWLT#@bm
EVAS)

m RooOFit, & NPISRTERL &4

m W 2803 BT 77125, TMVA(E JeEE 70 47)

m ROOTH ¥ HPYTHIA. Geant3/4

m K4
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ROOT) &2 Iy e ak

m MakeClass,MakeSelectorijiz

14(2)

.

s 2iar/home/yangzw/examples/Lec5/8 &TFH
XHex51.root, HFEHEZItree, TLAA
MakeClassatMakeSelector8 2=~ # X HFask X1

root [O] TFile f("'ex51.root");

root [1] .Is
TFile** ex51.root
TFile* ex51.root

KEY: TTree t4;1 Recon vents
root [2] t4->MakeClass();
By . t4->MakeClass(“MyClass™);

Azhr=4 Llt4. hFit4.C3Tf,

IMyClass.hflMyClass.C
XA

KK 5%E X L& Branchib ki
B~ THTHEZRE B B35 .

MakeSelector] =S :
root [O] TFile f("'ex51.root");
root [1] t4->MakeSelector();

517} t4->MakeSelector(*“MySelector”);

17




ROOT 1) H B Iy e 5k H 72:(3)

m MO 1R P A TROOT 70 A
JIREAEROOTHE; F1iz 4 TROOT AR J7 {8, (H4n
R AT B AR VG ELECR %, 7 ZE I [R)1s AT,
M7 2 PRI 1T LLAEROOT IS s T IR £, K
21 BRI 7200 o

/home/yangzw/examples/Lec5/standalone H
SKAE M G PEIZ A TROOT B 1o XS F5 &
SDA>] 3. 7cH]—&54)

Ut Astandalone H ¢ )5, gmake#t 14w nl Llia
1T -

tbEimake f5ia 47T v AT ST s i TR) 5 H 8%

—a

root -1 ex37c.CHIIEfT I Tr) Z 5 .

18
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75 > T Z A root SUAFAAF A T T H o L -

/home/yangzw/examples/Lec5/exercise/

1. &% 1Zdouble_gaus.rootXCff. {76t T 4 AtreelJTTree. it
treel ' pzHypAii, PRz TIG, EE ERoRBUE AR,
e EATEN IS 45 R .

(Pezn: oA &, T EE X - PMEe NS HAITE L
TS, A LEBCRIRMIINAR, T 220005 vH S0 R, UG s
Wi vHE. >
B Rk fun=p0*exp(-(x-pl)"2/2/p2"2)

+p3*exp(-(X-p4)N2/2/p57™2)
IS 1N S5, BB AN = 0 43 40

2. hist.rootr" G E 7 &, M E 7 EBREIT IRz . RiAR,

A5 H B DA AN FH“B™ 3L Ui 12 ZE [ AN T
Gz hAHGIE FTh2iFH6], TR "B IEI)

3. FIf1.rootf2.root, ﬂ%ﬁtljﬁ%xéj\%ﬂ@ﬂ%/l\ﬁﬁ@hl, h2t1. X
hl, h28H 7 hEskiceR, SHFRERI. WRIHH S AR
Sumw?2 () ) Z= ] o

19



27 R

s ROOTT

m $ROO

Mtz 5% Fitting Histogram

SYS/tutorials/fit H 5% H

H ¥

m http://root.cern.ch/tutorials.htmi

P SFiIt X1T

m http://root.cern.ch/howto.htmi

F 5 FitH < B

20
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